pull of P, [ pull of goverp parameter

TIes —1
T |G, 0 10
IO S SRS S g;m 0‘??9%
SRR Y G S
al 1072
107w

10—3 =

i

0.95,

T L T N
-10-8 6 -4 -2 0 2 4 6 8 10

103k

“B™5-8 =6 4 2 0 2 4 6 8 10

| == BEN-H-WBBIEIER-prapTep!

BRVSISISnEINALZ |

[ pull of @parameter |

107}

1072

1073

[ pull of dxy parameter

. I N L I T
=108 6 4 -2 0 2 4 6 8 10

107}

1072

0.95, L

B0 TE e 4 3 0 2 4 6 B 10

[ pull of 6 parameter |

107}

1072

P08 =6 4 -2 0

24 6 8 10

[ pull of dz parameter

107}

1072

R e

20 2 4 6 8§ 10




	Contents
	Page 1


